EARAROBREBRT —5 XN—ZXBISH—F

2021118218 (H) 201{E56H

R EEI R

‘(fﬁ} W ‘[%EH?’JF&] ~ | & o =

[AE%] 17%&:7,000,000  ~ 235:2,800,000 .~ 375:1,800,000  43%&:1,100,000 9 5 j&:700,000

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
2 | EEBC 1:48.5 1-1-1-1 [39.5| 81.1 | 7 | 484 |BFHE B
1 ) |7V " 55.0 (=) -) | @ o-Lilb-—yv7
RiN«40O B:UF Ya—J7—LA
. P 2 | KEEREL 1:48.9 5-6-2-2 [39.8| 77.8 | 1 497 | FIEE= EH)
7 1M IREIYTIVUR 45 A51.0 2 1/2) (-) |IXE (%)
RIIART—=ILYF— B:Fv—LFVR HIEEHUS
° » t 2 | SHEA 1:48.9 10-9-4-4 [39.6| 77.8 | 4 486 | E=EMER (R)
3MR 10| AN—=TIW 7 AKX i 54.0 ) (=) | .0 /—2ELZ
RiFAIXTIp— B:IFIIRZaA Hat /—ZEILR
- R : -4-2- BAEX (EH)
4l7013l 70y 90— L) e 1.?29).2 4-4-2-3 | 40.1| 75.4 | 2 (534) o=
RIVIRI—ZZRI— BEANLEYVRIILAR 7Y s
I, s 2 | BRER 1:49.7 9-9-6-5 |40.0| 71.3 | 3 | 454 |HERE GH)
51814/ NIV 54.0 3) (o) | B EvILyrIP—L
R:RyI—9ILYI B LY RFSAL RS
=y~ Bz : -12-12- HESEN EH)
N BCCEPEYE 4 2 L 1.(553.5 11-12-12-9 | 40.3 | 65.0 | 9 (430) =E.'=EE§.=”
RiRLTAY B:R—IVETY— s BE
<R ~ t 2 | ERAR 1:50.6 11-11-10-9 | 40.6 | 64.4 | 6 510 | BHRE G558
M0 6 | K—YRL—> [B] * 5.0 Y o | eTl-yyz
RiNZ—ka1—RX B:ARAUVT L=V BHT7—LA
- — BEHEI—EB : -15-15- BE—4% (FRN)
0 5| PAT7—5=7— B2 B 1.(5%.8 15-15-15-15| 39.8 | 62.0 | 14 (414) L
R:5=Z B:7A77—k0AY Wing Farm
< XEERH : -13-14- BiER
9l5lg BILUTVILRYS 2 7%5%1_06 1.(511).0 14-13-14-13| 40.6 | 61.2 | 12 (452) FEQ?W(?EE)
RIPRIAVL—Y B:A97—)bY— R&NIl —5
55 ) 2 o J)\HfE Sk : -8-9- Bt (E/H)
- 3| RS TISYYa L) g 1.(521).3 7-8-9-7 | 41.4| 59.8 | 10 (452) s
R:2MOVIUI—Y B:E5SZvI7—h AEHRUS
ty 2 | BEEA 1:51.7 11-13-12-9 | 41.5 | 56.8 | 11 514 | BEZ (5
1118115 FL/IYLx [B] 55.0 2172 (—) |EEE
REVFOVY B RXAUYIL bl Bl
g— 2 | BERPEt 1:52.3 2-2-4-5 |43.1| 54.4 | 8 500 | EE (ER)
120111|¥3a—7z4A4RX " 5.0 @172 ) STLU—207
RiFVyvY/FtEF B:ITLAIVT FrIEAYRT7—L
$ » 2 | LA 1:52.8 7-6-6-7 | 43.1]50.9 | 5 508 | AFIERL (E5)
136 4| VT bTU—H— "2 R0 3 ) | #) YGGH—2057
RIIRTVFLY 8N/ UVFY YFAORS
S A w s 2 | BT 1:52.9 3-3-6-9 |43.2] 50.3 | 13 | 476 |BEFAIE )
1400 7 | SATH—=v k 54.0 @e) (-) |EEEZ
RN/ VwFd— BAVTAVITIWIVF H #<z
it 2 | AEE 1:53.3 5-4-10-13 | 43.3| 47.7 | 15 | 514 |FHE—E &)
15/5|9 | 7IF #53.0 @172 o | @ s
R:F4RAITU—rFvv N B:ZAN=TILUF 01— HINLIR=Z—05T
[ BN
En'y 52.3-39.5
NOYFAL | 7.1-11.0-11.5-13.2-13.4-12.8-12.9-13.0-13.6
@ 11— —BBIEIL
10—7+— 2,1,7-13(9,11) (3,4)14,10(6,12,15) -8=5
20— — 2-1,7(9,13) (4,11)3(10,14)6-12(8,15) -5
Ia=5r= (2,13,11) (1,10)-(7,4,14) 3(9,6) (12,15)8-5
40—F— (*2,11)-13,10-(1,14) - (4,3) (7,12,6,15)-(9,8) 5
o ILRE
BB 2 2,230 JA R 2-11 830 & 2-6 1,100 3EE 2-10-11 4,490
B B 2 320 2-10 1,560 5 & 2-1 2,380MH 3Es 2-11-10 48,1904
1" 1309 10-11 400M oS- 2-11 6,350
10 180M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




